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S²Ìöì“þÄ„þ !î¦þyöì†îû ‹˜Ä þ™,í„þ vþz_îûþ™e îÄî£yîû „þîûV 
!î¦þy†éô„þ 
£zvþz!˜Ýþ éôé1 

 
 

1Ð öëöì„þyì˜ þ”%!Ýþ ²ÌöìÙÀîû vþz_îû ‛yç ƒé S2 × 5V 
 

 „þV ò›y %̃¡ì £œ ¢›hßþ !„þ․%éîû ›y˜‛[þóéôôôé ö²ÌyÝþyöì†yîûyöì¢îû ~£z ˜#!‚þöì„þ ö²ÕöìÝþy „þ#îû*þ™ ¢›yöìœy‣þ˜y „þöìîû̃ Ú 
 …V 'First Philosophy' „þ#Úéôôôé xÄy!îûÞÝþÝþœöì„þ x %̃¢îû’ „þöìîû îÄy…Äy „þîûÐ 
 †V ö²ÕöìÝþyöì„þ x %̃¢îû’ „þöìîû xy„þyöìîûîû SformV ›)œ ‛%!Ýþ ÷ìî!ŸÜTÄ xyöìœy‣þ˜y „þîûÐ 
 ‡V ò‚,þ‚þ#ëû ›y˜öìîîû ë%!_«ó „þ#Ú éôôôé xÄy!îûÞÝþÝþœö„þ x %̃¢îû’ „þöìîû xyöìœy‣þ˜y „þîûÐ 
 

2Ð öëöì„þyì˜ þ~„þ!Ýþ ²ÌöìÙÀîû vþz_îû ‛yç ƒé S1 × 15V 

 „þV !î¦þ_«éôéöìîû…yîû îû*þ™„þ !‛öìëû ö²ÕöìÝþy ‚¤þyîû Kþy˜‚þ_́ öëéôéîû*þ™ îÄy…Äy „þöìîû̃  ‚þyîû ¢!î‣þyîû xyöìœy‣þ˜y „þîûÐ   
 …V xÄy!îûÞÝþÝþöìœîû ‣þyîû„þyîû’‚þ_´ xyöìœy‣þ˜y „þîûÐ ~£z ‣þyîû„þyîû’‚þ_´  !„þ !m„þyîû’‚þöì_́ îû*þ™yhsþ!îû‚þ £öì‚þ þ™yöìîûÚ 

xyöìœy‣þ˜y „þîûÐ S10 + 5V 
     

 

 

£zvþz!˜Ýþ éôé2 
3Ð öëöì„þyì˜ þ”%!Ýþ ²ÌöìÙÀîû vþz_îû ‛yç ƒé S2 × 5V 
 

 „þV „þ#îû*öìþ™ ö‛„þy‚Åþ òxy!› !‣þhsþy „þ!îû x‚þ~î xy!› xy!․éó ~£z ²Ìí› ˜#!‚þöì‚þ £y!‥îû £˜Ú 
 …V ò=’ó îœöì‚þ „þ# öîyGþÚ !ßþ™öì˜y‥yöì„þ x %̃¢îû’ „þöìîû xyöìœy‣þ˜y „þîûÐ 
 †V !‣þêþ™îû›y’% îœöì‚þ „þ# öîyGþÚ !ßþ™öì̃ y‥yöì„þ x %̃¢îû’ „þöìîû xyöìœy‣þ˜y „þîûÐ 
 ‡V ²Ì‚þÄöìÇþîû öÇþöìe ßþ™ÜT‚þy ç !î!î_«‚þy „þ#Ú ö‛„þy‚Åþöì„þ x %̃¢îû’ „þöìîû xyöìœy‣þ˜y „þîûÐ 
 

4Ð öëöì„þyì˜ þ~„þ!Ýþ ²ÌöìÙÀîû vþz_îû ‛yç ƒé S1 × 15V 

 „þV œy£zî!˜‥öì„þ x %̃¢îû’ „þöìîû þ™)îÅ²Ì!‚þ!Ûþ‚þ Ÿ,Cœyîû !˜ëû› ¢!î‣þyîû xyöìœy‣þ˜y „þîûÐ 
 …V ö‛„þyöì‚Åþîû ¢öì̈ £ þ™kþ!‚þ ¢!î‣þyîû xyöìœy‣þ˜y „þîûÐ ö‛„þy‚Åþ !„þ ~„þ‥˜ ¢öì̈ £îy‛#Ú 
 

!î¦þy†éô… 
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5Ð öëöì„þyì˜ þ”%!Ýþ ²ÌöìÙÀîû vþz_îû ‛yç ƒé S2 × 5V 
 

 „þV ë%!_« !îKþyöì˜ ÷î“‚þy ç ¢‚þÄ‚þyîû ›öì“Ä ¢Áºõþ „þ#Ú 
 …V !˜îûöìþ™Çþ î‣þöì˜ þ™öì‛îû îÄyþ™Ä‚þy îœöì‚þ „þ# öîyGþyëûÚ òIó î‣þöì̃  ö„þ˜ ö„þyöì˜y þ™‛ îÄyþ™Ä £ëû ˜yÚ S3 + 2V  
 †V !˜îûöìþ™Çþ î‣þöì˜îû x!hßþc¢)‣þ„þ ‚þyêþ™ëÅ îœöì‚þ „þ# öîyGþyëûÚ 
 ‡V !˜îûöìþ™Çþ î‣þöì˜ þ™‛ë%†öìœîû ›öì“Ä ö×’#¢Áºõþ ¢‚öìÇþöìþ™ îÄy…Äy „þîûÐ 
 

6Ð öëöì„þyöì̃ y ~„þ!Ýþ ²ÌöìÙÀîû vþz_îû ‛yç ƒ S115V 
 „þV SxV  ²Ìy„þ!Ò„þ ˜Äyëû îœöì‚þ „þ# öîyGþyëûÚ ²Ìöì‚þÄ„þ ²Ì„þyîû ²Ìy„þ!Ò„þ ˜Äyöìëûîû ~„þ!Ýþ „þöìîû vþz‛y£îû’ ‛yçÐ S5V 
   SxyV !˜Á¬!œ!…‚þ îy„þÄ=!œöì„þ xy‛ŸÅ xy„þyöìîûîû !˜îûöìþ™Çþ î‣þöì̃  îû*þ™yhsþ!îû‚þ „þîû ƒ Söìë ö„þyöì˜y ‰þyîû!ÝþV S4× 1V 

i. ë!‛ ~!Ýþ œyœ £ëû ‚þy£öìœ ~!Ýþ ¢î%‥ ˜ëûÐ 

ii. ¢îy£z ¢y“% ˜ëû ëyîûy †#‥Åyëû ëyëûÐ 

iii. ‚þyîûyîûy !›Ýþ!›Ýþ „þöìîû ‥µöìœÐ 
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iv. „þ‛y!‣þê ²Ìy’#îûy ¢y£yëÄ„þyîû# £ëûÐ 

v. ö„þîœ›ye “)öì‚Åþîûy þ™îûy!‥‚þ £ëûÐ 

  S£zV ¢‚!Çþ® ˜Äyëû „þyöì„þ îöìœÚ „þëû²Ì„þyîû ¢‚!Çþ® ˜Äyëû ¢½þîÚ ²Ìöì‚þÄ„þ ²Ì„þyöìîûîû ~„þ!Ýþ „þöìîû vþz‛y£îû’ ‛yçÐ S2+1+3V 
 
 …V SiV !˜îûöìþ™Çþ î‣þöì˜îû î%œ#ëû ¦þy¡ìÄ „þ#Ú S3V 

   Sii) ö¦þ˜!‣þöìeîû ¢y£yöìëÄ ÷î“‚þy !î‣þyîû „þîû Söë ö„þyöì˜y !“þ˜!ÝþV ƒéôé S34V 
  SxV ¢›y‥ ¢‚ßþñyîû„þöì‛îû ö„þvþz ö„þvþz “öì›Åy§Ãy‛” ¢%‚þîûy‚ ¦þyîîy‛#öì‛îû ö„þvþz ö„þvþz “öì›Åy§Ãy‛” öëöì£‚%þ ¢î ¢›y‥ 

¢‚ßþñyîû„þ ¦þyîîy‛#Ð 
  SxyV !„þ․%é ßþ¬yëû%!î„þyîû@ùÌßþi îÄ!_« þ™îû‥#!î ˜ëû” !„þlsþ ¢î xþ™îûy“# þ™îû‥#!î £ëûÐ ¢%‚þîûy‚ !„þ․%é ßþ¬yëû%!î„þyîû@ùÌßþi îÄy!_« 

xþ™îûy“# ˜ëûÐ 
  S£zV ö„þyöì˜y ¢%îû„þyîû ›£y„þyŸ‣þyîû# ˜ëû” ¢î ¢%îû„þyîû öî¢îœ öì…œyîû x %̃îûy†#” ¢%‚þîûy‚ ö„þyöì˜y ›£y„þyŸ‣þyîû# ˜ëû 

öî¢îœ ö…œyîû x %̃îûy†#Ð 
  S{V ‚þ,‚þ#ëû ¢‚ßþiy˜ AAI  ›)!‚ÅþÐ 

£zvþz!˜Ýþ éôé4 
 

7Ð öëöì„þyöì̃ y ”%!Ýþ ²ÌöìÙÀîû vþz_îû ‛yç ƒéôé S25V 
 „þV ¢î vþzþ™›y£z !„þ vþzþ™›y ë%!_«Ú ë!‛ ˜y £ëû” ö„þ˜Ú 
 …V „þyîû’ £œ xyî!ŸÄ„þ þ™ëÅy® Ÿ‚Åþ éôé îÄy…Äy „þîûÐ 
 †V îý„þyîû’îy‛ !„þ @ùÌ£’öìëy†ÄÚ xyöìœy‣þ˜y „þîûÐ 
 ‡V ¢½þyîÄ‚þy †’˜yîû þ™)îÅ‚þƒ!¢kþ ‚þ_´!Ýþ îÄy…Äy „þîûÐ 
 

8Ð öëöì„þyöì̃ y ~„þ!Ýþ ²ÌöìÙÀîû vþz_îû ‛yç ƒéôé S115V 
 „þV SxV !›öìœîû x§ºëû# þþ™kþ!‚þ ¢y‚öì„þ!‚þ„þ ç ›)‚Åþ vþz‛y£îû’¢£ îÄy…Äy „þîûÐ S8V 
   SxyV !›öìœîû þ™kþ!‚þ=!œ !„þ „þyëÅéôé„þyîû’ ¢Áºõþ xy!îÜñyîû „þöìîûÚ vþz_öìîûîû ¢þ™öìÇþ ë%!_« ‛yçÐ S7V 
 
 …V SxV ÷ìî„þ!Ò„þ ‡Ýþ˜yîû ¢½þyîÄ‚þy †’˜yîû ¢)e!Ýþ vþz‛y£îû’¢£ öœ…Ð S3V 

   SxyV ¢½þyîÄ‚þy †’˜y „þîû ƒ Söìë öì„þyöì̃ y !“þ˜!ÝþV S34V 

i. ~„þ!Ýþ þ™yöìe 15 !Ýþ ¢y‛y îœ”20 !Ýþ „þyöìœy îœ ~î‚ 25 !Ýþ œyœ îœ xyöì․éÐ þ™ye!Ýþþ öíöì„þ þ™îûþ™îû 
‛%!Ýþ îœ ‚%þœöìœ îœ ‛%!Ýþ ~„þ£z îûöì•îû £çëûyîû ¢½þyîÄ‚þy „þ‚þ” ë!‛ ö‚þyœy îœ!Ýþ öšþîûê ö‛çëûy ˜y £ëûÚ 

ii. ~„þ!Ýþ xy‛ŸÅ ‚þyöì¢îû þ™Äyöì„þÝþ öíöì„þ xy¨yöì‥ ~„þ!Ýþ ‚þy¢ ‚%þœöìœ ö¢!Ýþ öÝþEþy xíîy !„þ‚ xíîy „%þÄ£z˜ 
£çëûyîû ¢½þyîÄ‚þy „þ‚þÚ 

iii.  ~„þ!Ýþ vþy_«yöìîûîû ö‣þÁºyöìîû ö‘þy„þyîû ‣þyîû!Ýþ ‛îû‥y íy„þöìœ ~î‚ ~„þ¢öìD ‣þyîû‥˜ öîûy†# ~öìœ ‣þyîû‥öì˜îû£z 
~„þ£z ‛îû‥y !‛öìëû ö‘þy„þyîû ¢½þyîÄ‚þy „þ‚þÚ 

iv. ~„þ!Ýþ ›%oy !‚þ˜îyîû !˜öìÇþþ™ „þîûöìœ 1V x˜!“„þ ~„þîyîû ö£vþ 2V !àþ„þ ~„þîyîû ö£vþ çàþyîû ¢½þyîÄ‚þy 
„þ‚þÚ 
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English Version : 

(Use a separate Answer book for each group) 
 

Group – A 
 

 

     Unit I 

1. Answer any two questions of the following:  (2 × 5) 

 a) How does Plato criticise the Protagorean maxim – 'man is the measure of all things'.? 

 b) What is 'First Philosophy'?— Explain after Aristotle. 

 c) Explain two main characteristics of 'Form' following Plato. 

 d) What is 'Third Man' argument? — Explain, after Aristotle. 

  

2. Answer any one question of the following: (1 × 15) 

 a) Critically discuss Plato's theory of knowledge with reference to his 'Simile of the Divided 

Line'.  [10+5] 

 b) Explain Aristotle's Doctrine of Four Causes. Are the four causes reducible to only two 

causes?— Discuss. [10+5] 

     Unit II 

3. Answer any two questions of the following: (2 × 5) 

 a) How does Descartes arrive at his first principle 'Cogito Ergo Sum'? 

 b) What is 'Attribute'?- Explain after Spinoza. 

 c) What is 'Monad'? Explain after Leibnitz. 

 d) What is clearness and distinctness of Perception?- Explain after Descartes. 

 

4. Answer any one question of the following: (1 × 15) 

 a) Explain and examine Leibnitz's Theory of Pre-established harmony. [15] 

 b) Critically discuss Descartes's method of doubt. Is Descartes a sceptic? [10+5] 

 

Group – B 

Unit III 

 

5. Answer any two questions of the following: (2 × 5) 

 a) What is the relation between validity and truth in logic? 

 b) What is meant by distribution of terms in categorical preposition? Why are no terms 

distributed in 'I' proposition? (3+2) 

 c) What is meant by existential import of categorical proposition? 

 d) Explain in brief, the class-relationship between the two terms of a categorical proposition. 

  

6. Answer any one question of the following: (1 × 15) 

 a) (i) What is hypothetical syllogism? Give an example of each type of hypothetical 

syllogism. (5) 

   (ii) Translate the following sentences into standard form categorical proposition: (any 

four) (41) 

(I) If it is red then it is not green. 

(II) All are not saints that go to church. 

(III) Stars twinkle. 

(IV) Animals are seldom helpful. 

(V) Only cunning people are defeated. 
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  (iii) What is an enthymeme? How many types of enthymemes are possible? Give an 

example from each type. (2+1+3) 

 

 b) (i) What is Boolean interpretation of categorical propositions? (3) 

   (ii) Test the validity by the means of Venn diagram (any three):- (34) 

   (I) Some social reformers are fanatics, so some idealists are fanatics, since all 

social reformers are idealists. 

   (II) Some neurotics are not parasites, but all criminals are parasites, so, some 

neurotics are not criminals. 

   (III) No musicians are astronauts, all musicians are baseball fans; consequently no 

astronauts are baseball fans. 

   (IV)  AAI in Fig.3 

   

 
Unit IV 

     
 

7. Answer any two questions of the following: (2 × 5) 
 

 a) Are all analogies analogical argument? If not, why? 

 b) Cause is a necessary-sufficient condition. – Explain. 

 c) Is the doctrine of the plurality of causes acceptable? Discuss. 

 d) Explain the a priori theory of calculating probability. 

 
 

8. Answer any one question of the following: (1 × 15) 

 a) (i) Explain Mill's method of agreement with symbolic and concrete examples. (8) 

   (ii) Do Mill's methods discover cause-effect relationship? Give reasons for you answer. (7) 

 

 b) (i) State and illustrate the principle of calculating probability of alternative events. (3) 

   (ii) Compute the Probability of any three of the following: (3  4)   
    (I) An urn contains 15 white balls, 20 black balls and 25 red balls. If two balls are 

drawn from the urn  what is the probability that both the balls drawn are of the 

same colour, if the balls drawn are not replaced? 

 (II) If a card is drawn at random from a standard deck of cards, what is the 

probability that the card drawn is an Ace or a King or a Queen? 

 (III) A doctor's chamber has four entries. If four patients come together, what is the 

probability that they all enter by the same door? 

 (IV) What is the probability of getting 1) at most one head and 2) exactly one head, 

in three tosses of a coin? 

  


———— × ———— 


